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QUESTION 1

Which attribute value allows usage of common inventory for project specific demand?
A. Allow use of common supplies : No andHard Pegging Level : Project Group

B. Allow use of common supplies : Null and Hard Pegging Level : Project Group

C. Allow use of common supplies : No and Hard Pegging Level : Project and Task

D. Allow use of common supplies : Null and Hard Pegging Level: None

Correct Answer: D

QUESTION 2

Your organization has lot controlled and non-lot controlled material and stores all defective material in a subinventory
called "Defect.” The organization does not want defective material to be available for reservations or for subsequent
shipping to customers.

Which option satisfies this requirement?

A. Put a hold on the lot.

B. Disallow all inventory transactions for the subinventory "Defect.”

C. Assign the subinventory a material status that disallows reservations and allows subinventory transfers and issuesto
scrap.

D. Tag the lot as defective product.

Correct Answer: C

QUESTION 3

For an Item to be enabled for back-to-back order process, which attribute do you need to set?
A. Organization attribute: Allow Back to Back Processing

B. Item attribute: Allow purchase orders off of sales orders

C. Item attribute: Reservations Enabled

D. Item attribute: Back-To-Back Enabled

E. Organization attribute: Allow Reservations

Correct Answer: D
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QUESTION 4

Reorder quantities for an item subinventory are calculated using Fixed Lot Multiple and Round Order Quantity. Assume
that the reorder quantity is 24 and you specify 10 for the fixed lot multiple and enable rounding the reorder quantity.

What will be the reorder quantity?
A. 24
B. 30
C. 20
D. 25

Correct Answer: B

QUESTION 5

Which three types of jurisdictions should be considered while designing the Enterprise Structure? (Choose three.)
A. Transaction Tax Jurisdiction

B. Labor Jurisdiction

C. Local Jurisdiction

D. Obligatory Jurisdiction

E. Identifying Jurisdiction

F. Income Tax Jurisdiction

Correct Answer: AEF
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